PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016

4th August 2016, 12:00 PM
Topic:- General and Logical Knowledge

1)
Question Stimulus :-

Following are the three positions of a cube. / % 9 %! di° fufawi &

TOM RON
TinI Jng
JACK TOM
15t view 2nd yiewy
RON
AL MEL
3 view

What is the name in the face opposite to the face having name NEAL? / NEAL
A & Bad & AR Bae W o1 919 82

®* TOM
® Jim
® MEL
® NONE
Correct Answer :-TOM
2)
Question Stimulus :-
Ocean covers almost _ of earth’s surface./ HgIINIR Pl q&\‘r Pl A8 U T _ S3TaRur Bl

® 50%

()



°* 70%

* 90%

® 95%
Correct Answer :-70%
3)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg faweu ﬂﬁl’l'{
it fRE 7T $YHY vd frewul & I § 9 2

Statements: / ©YH:

All batsmen are cricketers / I sar W%

No cricketer is bowler / &3 fpdpc Nea A1 &
Conclusions: / frep:

I. No batsman is bowler / 1. aﬂ%aﬁmﬁﬁw\—ﬁz&%
II. All cricketers are batsmen / II. 94l fohdhex gcaiar g

e Only conclusion | follows / Pad feed I fradr g
® Only conclusion Il follows /aﬁﬁ feree 1 Frean %
® Both conclusion land Il foIIows/?ﬂ:ﬁ e 1 GﬁT II freea %

e« None of the conclusion I or II follows / fa=d 1 a1 I1 # @ #I5 81 Fpaqr g
Correct Answer :-Only conclusion | follows / Faa freepd I fAeadr %

4)
Question Stimulus :-

select the option that is true about the Statements and Conclusions given: / dg oo ﬂﬁ'q

S faT T $YAT vd eyl & 9 & 98 2
Statements: / ®Y:

All planets are stars / I UG IR &
Some stones are planets / 9 TR Ug %

Conclusions: / fAp:

@)



I. Some stones are stars / I. 9 URR a1 &

II. Some stones are not stars / II. $9 TR Rar T8 &

® Only conclusion | follows / *ad frepd I APpadr %

® Only conclusion Il follows / Fad st 11 fFreadr g

® Both conclusion I and Il follows/?:ﬁ:ﬁ e 1 3R 11 fAeea %

« None of the conclusion I or II follows / for=sd 1 a1 11 & 9 FIE 7¢I fAeaar &
Correct Answer :-Only conclusion I follows / Fad fsed I fAwear &
5)

Question Stimulus :-

Sam ranked ninth from the top and thirty gighth frorp the bottom in a class. How many
students are there in the class? / 90 F&T & SW A Ald VI W 3R TF A7 A ST RIM TR IFT
F&m ° fbad 819 82

® 45

° 46

° 47

e 48
Correct Answer :-46
6)
Question Stimulus :-

Which of the following belongs to the same family as Lock, Shut and Fasten? / ffgd P9 I ufvarR 9
TSIfta & R & arem @, | Sear iR s

Window / %33%

Door / GQ¥dISIl
Block / JApAT

o Iron/?‘ﬁ?T

Correct Answer :-Block / &I

7)
(4)



Question Stimulus :-

Maximum number of Anglo Indians who can be nominated by President of India in Lok Sabhais ./ HIRd &

RTgufe FRT 1T dieayr # Te YRR Y siftmay S g

* 2

° 10
Correct Answer :-2
8)

Question Stimulus :-

First Muslim president of the Indian National Congress was / YR Tl'g']'q PO & YA HATHT & O
e Baddruddin Tyabji / SGE I daaeil
® Mohammad Ali Jinnah / GgWg 3felt foramg
e JL Nehru /S T A8

® Ghulam Hussain / [¢ITH Ea:l
Correct Answer :-Baddruddin Tyabji / SEEIT dudsit

9)
Question Stimulus :-

1. Six flats on a floor in two rows facing north and south are allottedto P, Q, R, S, T and U.

/ 1. TH HiSTE UR SR 3R Sfémr #Y ok arelt ) ufaal & u%EPQ,RSTeﬁvuﬁanaﬁa%qnﬁ%.l

2. Q gets a north facing flat and is not next to S. / 2. Q &I IR P 3R BT W fAdT, 3R S & T
# T8 81
3. S and U get diagonally opposite flats. / 3. S 3R U &t fawufa: Wﬁ? faen

4. R next to U gets a south facing flat and T gets north facing flat. /4. R S U & TTa ﬁ%, Cal
ST fa=m &Y Sk 1 W frar ok T &Y SW &Y 3R aren wie e

If the flat of T and P are interchanged, whose flat will be next to that U? / 3 IR T ARP &
Tie ded AT &I § «, fhaeT wie U & ara & ghmme?

(%)



Correct Answer :-R

10)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg§ oo

ghe, st 7 o1 =P F R Re 1w vu= & awE 8
If I go to movie, then I will drink cool drink. / 3fR & fbed ST §, o & $e1 U fugami
¢ I go to movie, I drink cool drink /ﬁﬁﬁ?ﬁﬁ,ﬁwaﬂmgl

e If I don't go to movie, then I don’t drink cool drink / 3fR H ftbed =18} wiraT g, ot # &1
CUE RGN

e If I don’t drink cool drink, then I don’t go to movie /Wﬁ%‘eﬂﬁ'ﬂﬂ%’fﬁmﬁ ot # frem
EEECIGIE
e If I drink cool drink, then I go to movie /3R & 81 U7 a1 § a1 & ftred iran 51
Corr_ect Answer :-If I c_lon't drink cool drink, then I don’t go to movie /anwﬁwﬁuq-;ﬁ
et §, @) & feew 1) wiran B
11)
Question Stimulus :-

The jumbled letters of words are given below. Each letter has been numbered. Choose the
option which
gives the correct order of the letters as indicated by the numbers to form meaningful word.

/ Neal & SeTafeyd 3ieR T 38 1A §| Ul 3R B Hwiied fhar a1 §| 98 e giha o arde v
P T & ford wEmel & U § 3IeRY BT el HH T g

AEHRGN

123456

e 3,1,6,5,2,4

(6)



* 4,1,53,2,6
e 53,1,4,2,6
e 6,1,5,3,4,2
Correct Answer :-3,1,6,5,2,4

12)
Question Stimulus :-

Madhya Pradesh Agency for Promotion of Information Technology is known as / =-IT Hrenfet &t deldl G5l

P U Ao U™ ool &Y 59 U A ST ST @
* MAP_IT
® MPA_PIT
e MP_IT
* MP_PIT
Correct Answer :-MAP_IT
13)

Question Stimulus :-

Who was the first woman to be awarded the Bharat Ratna? / HIRd ¥ I T q‘e’ﬁ 'FI'I%?IT P o
® Aruna Asaf Ali/ 37SUIT 3% 37l
 MS Subbulakshmi / THEH geger&Ht
® Indira Gandhi / EﬁT[ Tﬁiﬂ
® Mother Teresa / WG ¢¥<T

Correct Answer :-Indira Gandhi / SfexT Tt

14)
Question Stimulus :-

The chairman of the Bharthi group is / TRl qHe & AT T:
® Sunil Mittal / '\ﬁ:ﬁ'ﬂﬁﬁfﬁ
® Laxmi Mittal / W& firrat



e Gopal Mittal / Ture firer

e Ravi Ruia / 39 %541
Correct Answer :-Sunil Mittal / J-Id e
15)

Question Stimulus :-

Which one of these is not a category of Public debt of Union Government of India? / E:I'ﬁ ¥ DI T HRd B Hg

WBR $ A1 B BT TP a1 Ta1 82
e Internal Debt / 3fiAf¥e® FHUT
e External Debt / fac=t U1
® Other Liabilities / /< 3TdT¢
® Bad debt / gT BUT

Correct Answer :-Bad debt / T BUT

16)
Question Stimulus :-

Who had the longest tenure as speaker of Lok Sabha? / P Al YT & T & FUH Ga a9l BrADId
Yr?

® Balram Jakhar / I¢RTH SITES

® G.S.Dhillon /St T fewl

® G.V.Moulankar /St g ATqeH

® P.A.Sangma / ut T T
Correct Answer :-Balram Jakhar / TeRTH SIS
17)

Question Stimulus :-

In the following question, there is certain relationship between the first two terms. Choose
the fourth term from the following options which has a similar kind of relation with the

third term. / 9 % &, Ugd o ugl & di9 [FA R I IS Jd9 g] 9 e & I @ur ug gHa
e R ug & Ty I UPR &1 J9Y 2]

PNL) : IGEC:: VTRP : ?

(8)



® QOMK
® RSTU
® QSRC
®* RPOM

Correct Answer :-QOMK

18)
Question Stimulus :-

Pandit Jasraj sings in this style of music / UfSd SRTS Sd ot Y Qeit A T %
® Hindustani / %@WFP[
® Dhrupad / YU
® Thumri / ST
® Carnatic / HAlCH
Correct Answer :-Hindustani / @&t

19)

Question Stimulus :-

SEBI was establishedin ./ el _ﬁ R o T AT
®* 1993
* 1992
® 1988
® 1990

Correct Answer :-1988

20)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fowe

g, o @1 B A TR R e sy & w9 2 -
If it is a fruit, then it is not a vegetable. / 3[R I8 TP B4 g, dl I8 TP sl 78! 2l

©)



e If it not a fruit, then it is not a vegetable. /WHEWWH%T%,H’[WWWW%I
e Ifitis not a fruit, then it is a vegetable. /amugwwqﬁ%,a‘rugwﬂwﬁ%l

e If it not a vegetable, then it is a fruit. /WT@'WWH@T% T-ﬁﬂ'ef@ﬁ%l

e Ifitis a vegetable, then it is not a fruit. /Wﬂ%’@ﬂﬁﬁ%, ?ﬁﬁ@ﬁﬂﬁ%l

Correct Answer :-If it is a vegetable, then it is not a fruit. /WT&'WW% A Ig Th

®d T8l 5l
21)
Question Stimulus :-
Who succeeded Morarji Desai as the Prime Minister of India? /'FﬁTRTrﬁ é;rrs‘é?ma HIRA & UUTTHA DI T7
® |ndira Gandhi / B'QQT et
® Rajiv Gandhi /Tﬁﬂ'a"'ﬂ'iﬂ
e Charan Singh / WU Rig
® None of the above /maaﬁﬁaﬁé?é‘rl
Correct Answer :-Charan Singh / @0 ¥ig
22)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fowe ﬂﬁt{
St fRT 7T Sy} wd Frepl & 9k # T8 B

Statements: / PY:

No spoons are plates. / IS IWd We T8l gl
All forks are spoons. / 9 ®i¢ T™T &1
Conclusions: / fsmd:

I. No forks are plates. / I. ﬁé Fic W qﬁ%l

II. Some spoons are plates / II. $9 dW¥HdAd we %'I
® Only conclusion Il follows / e F=rswd 11 fPpear g
® Both conclusion I and I follows / &Il f5pY I 3fR II fwed &
e« None of the conclusion I or II follows / =Y 1 a1 1T & 9 FIE ) Fwear g

(10)



® Only conclusion | follows / Fad ey 1 Meaar %
Correct Answer :-Only conclusion I follows / Pad et 1 e %
23)

Question Stimulus :-

Assam is also known as ___./ 3[\HH _35 wud Y ST STar B
® Land of red river and blue hills. / T :E‘P[ Gﬁ?’ =ﬁ?r [T a?r "Tb’T%Tﬁ' 3% ‘1{&”
e Automobile capital of India / HTRd ®I TSIHIGISA ST |
® Steel city of India / HIRd & Wd o1 Qe |

® City of letters / Y BT Qe |

Correct Answer :-Land of red river and blue hills. / TS -Tat 3% -iat 11 & UgTfsal &t yfiy|

24)
Question Stimulus :-

In column I are listed certain groups of individuals while in column II are listed some of
the characteristics against each group of individuals which are common to each member of

that group. / WY I ARy safera gl @1 gia $ar 3,99 & WY 11 3R aaferl & 998 99
fawanel 1 gfad Hvar g Sl 39 TUg & o% U He™ & g I gl

ColumnI | Column II
FHIJ TW
11K PT
1JLM SUW
GHIKM RY
GHI QRV
FGI PR
HI] QTW
111 QsUM
GI] PQS
Which characteristics are not found either in F or in L or in both? / FITL s maﬁ’r A Q?ﬁﬁq
It fa=ivare T urf et @2
°Q
e S
e U

eV

(11)



Correct Answer :-V

25)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg foweu

gRE s ab F1 R AR e W FyT & qu= 2 -

If you practice, then you can sing well. / SI¥ 37 ™ Gﬁ, ar 3mg GJETTITW%'I

e If you do not practice, then you cannot sing well. / 3R arrcrarmm?é’fm?r%', ol 3mu
ST T8 M qHa B

¢ If you cannot sing well, then you didn’t practice. / TR anueﬁ;r:ré’r'mm%; GIRCILE]
W T8l TpaT|

e If you sing well, then you must have practiced. / 37X 3{lY G@TTI'I?[%', GIRCILE Aurary
ST fopar g |

¢ None of the above / mﬁﬁﬁ Tﬁ‘ﬂ

Correct Answer :-If you cannot sing well, then you didn’t practice. / 3R 3T 3TJT At M
Tehd €, dY ITU 31T 81 fopar|

26)

Question Stimulus :-

Who began the Lingayat movement in Karnataka? / FteHl | fomaa si<ied fram TR fopar ur?

® Pampa /Y&
® Basavanna / SHJAT

® Rana /3T0IT

® Kuvempu / m

Correct Answer :-Basavanna / SH9ddl

27)
Question Stimulus :-

A and B are planning to meet each other after office. A can leave office between 5:30 to
6:00 while B can leave office only after 6:00. A takes 1 hour by bus or 30 mins by cab to
reach the meeting point whereas B takes 30 min by bus and 15 min by cab to reach the

same. / A 3R B $RIAT & 91¢ TP gO¥ A e @1 91 591 38 &1 A 6:00 3R 5:30 99 & Sig drEiay
Bl THdl ¢ TdP B $Id 6:00 I3 & ¢ HAITT BIS TPHdl g1 A B Tqed I dF 99 § Uga= & 1 el
TRTAT & T 30 P TR @ oTd € Siafe B &1 30 fAFe a9 ¥ 3R 15fFe TRl § @ 1

(12)



B knows that A will leave at 6 but doesn’t know which conveyance he would be taking. How late can B start from office and
which conveyance should he take such that he minimizes on his travel time and yet is not late? / B Trlﬂ?ﬂ%ﬁA 6 9ol

Rty A e R afde o ares ST S A IuS yar gl 81 8 fhal R} | sraiay I Fea
IHdl § SR IA B AT a8+ AT IT 6 ITS! a1 &1 T80T gAad g1 SR 98 & I ff 7 ugae

® 6:00, Bus / 6:00,
® 6:00, Cab / 6:00, TRl
® 6:15,Bus/6:15, 9
* 6:15, Cab / 6:15, ¢&Ril
Correct Answer :-6:15, Cab / 6:15, ¢t

28)

Question Stimulus :-

Which is the highest peak of Madhya Pradesh? / HEI TSI B JaF Al At B A 82
® Dhoopgarh / YUiTg
® Pachmarhi / 'q?m_oﬁ
* Bhimbetka / WHSTDHT
® Chauragarh / Eﬁw

Correct Answer :-Dhoopgarh / UG

29)

Question Stimulus :-

Pre-historic painted rock shelters at Sita Khardi are located in___./ T WRGI | Ujﬂﬁl—&'m B EGKIED
s AfR@R

® Talpura / dTCTYRT
® Bhanpur / HTHYY

® Undasa/ 3STHT
® Bhairgarh / aTITI_GT

Correct Answer :-Bhanpur / HTFQR

30)

(13)



Question Stimulus :-

The Kalidas Academy is located at ? | BIIGHT BIGHT H fRE 82
® Umaria / SHNAT
e Gwalior / T@TTeRIR

* Indore /SaIX
e Ujjain /IS4

Correct Answer :-Ujjain / 319

31)
Question Stimulus :-

The Indian Constitution was drafted by / HRA '\‘Iﬁfﬁl‘l’%’\‘lﬁ?ﬁm a'*TR'%CIT T 4T
® The Parliament / §9¢
® The Constituent Assembly / TIemT FHT
® The Congress Party / SH1I9 urdf
® The British Government / faferReR
Correct Answer :-The Constituent Assembly / Afger= FHT
32)

Question Stimulus :-

If the bread is toasted and mayonnaise is spread on it then either I will go hungry or I will
have acidity. I have acidity so the bread was not toasted. / If¢ 35 &I I fFar wIaT € 3R 39
TR AU ST ST § o) 97 of § YT I8 ST a1 gt vrfSdl g omift g2 vRifedt @ swfen a8 &) e
el fobam Tram T

e True / ?l'é’f

e False / Tdd

e Maybe / Bl gpar %

e Irrelevant / SRS

Correct Answer :-Maybe / 8 9&dl §

33)

(14)



Question Stimulus :-

If Saddu says, “Kannu’s father Rambo is the only son of my father-in-law, Mithu,” then who is Lappu, who is the sister of

Kannu, related to Mithu? / afc; Tge HadT & "H3 & a1 Wal IR TR off Y & ghaid 9 & A b ag o= 8, it
Y P T8¢, ol Yy T awfRa &2

® Niece/ Yo Tsit

* Wife / Uell

® Daughter-in-law / dg

® Granddaughter / el
Correct Answer :-Granddaughter / Giail
34)

Question Stimulus :-

Ashok ranks 7th in the class of 16. Find out his rank from the last. / 16 BT B DT H 3MP Pl
741 9o} yTed g3 oifaw & STt 9oft FreTa |

o 11t /11
e 10t /10d¥
o 12th /1odf
o gth/gqf
Correct Answer :-10%" / 104}

35)
Question Stimulus :-

What is the day on 31st October 2008? / 31 3fdagdr 2008 @I DI a1 fe1 32
* Friday / [hdR
* Tuesday / HddR

* Wednesday / gUdRR

® Thursday / ¥dRR

Correct Answer :-Friday / [shdR

36)

(15)



Question Stimulus :-

In the following question, some group of letters is given, all of which, except one, share a
common similarity while one is different. Choose the odd one out. / % U4 ¥, $& i &
a9E 33 1 &, St wefl, Paa TP DI SisH, GHM § wafh TP e 2| fauH ard 1 giha |

e DE

e PQ

e TU

e MO
Correct Answer :-MO
37)

Question Stimulus :-

Six persons A,B,C,D,E and F were playing a card game. A’s father, mother and uncle were
in the group. There were two females. B, the mother of A got more points than her
husband. D got more points in the game than E but less than F. Niece of E got the lowest
points. Father of A got more points than F but still could not win the game. / 3%

A,B,C,D,E 3R F U% dIX &1 Wd T ¢ A1 T9g # A & far, wrar iR = 1 &t ufgang <&t B, A &1 Arar
B 3 Ufd I g 3P 3fUF g §¢I A & D B E F 3MUF W F A $H 3P U g1 E Dt Uil BT Jad
Y 3P U g1 A & a1 31 F 9 $ifie 8fd ured g WR i ot 98 9w =181 sid Ui

Who is the lady in the group other than ‘B’? /9Hg # ‘B’ P AT Tl DI %?

¢ None of these /39H ¥ ®I5 8l

Correct Answer :-None of these /390 I ﬁ% &l

38)
Question Stimulus :-

He was the son of Shivaji /!?r Rart & A |
e Sambhaji / TEITSI
® Rajaram /TSIIRTH

e Shahu /R
(16)



® Tarabai / TRTETS

Correct Answer :-Sambhaji / TEITSI

39)

Question Stimulus :-

Which is the animal that does not fear tigers and found in almost all the sanctuaries and reserves of Madhya
Pradesh? / 1 AT § SITIFaR § 14 916l &1 SX 81 ¢ 3R T SR 0 Ue=r & et srvamuat o feerd
H T ST 82

e Sloth Bear / 3{TE™ HT
® Chintals / Riqa9

e Gaur /TR

® Barasinga/ CIRE-ko)]

Correct Answer :-Gaur / IR

40)
Question Stimulus :-

The National Commission for Women was set up as statutory body in the year ./

wifafte yien & U A I AR AT HIRMAT U H &1 718 A
* 1992
* 1990
* 1973
* 1975

Correct Answer :-1992

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

If CARTON is coded as DBSSNM, which of the following means WASTED? / gfe CARTON &I
Topd § DBSSNM ferar sirar 7 ) o & foweT siff WASTED 2?2

® XBTUPO
e VZRSDC

(17)



® XBTVFE

e XBTSDC
Correct Answer :-XBTSDC
2)

Question Stimulus :-

In the foIIowing qpestipn, one term in the number series is wrong. Find out the wrong
term. / N9 Uy 8§, 9@ 491 § TP US TAd 2| TAd UG I BIOA|

27,22,17,11,7,2
° 17
° 11
°* 22
° 2
Correct Answer :-11
3)
Question Stimulus :-

If NAKED is coded as 84123 and MISTAKE is coded as 9765412, What is the
code for INTIMATE? / afe¢ NAKED & 84123 ¥ ®ifsd fhar wian @ iR MISTAKE &1 9765412
T Bifed forar oiar 8, df INTIMATE & o /11 9IS gim?

e 77432165

e 67688341

e 78579452

e 89687563
Correct Answer :-78579452
4)

Question Stimulus :-

What is the average of first 15 multiples of 12? / 12 & Ugd 15 IIUN BT 3iRId 7 82

e 98

(18)



® 100

® 96

* 94
Correct Answer :-96
5)
Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁﬂ"ﬂ SE&R gAD adr I QA ﬂ'ﬁﬁl’E tabc_a_bcb_abc_c
® abcc
® abbc
® aabc
® abca
Correct Answer :-aahc
6)

Question Stimulus :-

The value of M in equation -m=6 is / THIBI -m=6 § M BT °AH %

Correct Answer :-3,-2

7)
Question Stimulus :-

A circular field with circumference 722 meters. Two persons start from the same point and walk in opposite directions at 4.5
km/hr and 5 km/hr respectively. They will meet for the first time in/ b gHIP R 'a'c'{'ﬁ raet ufikfer 722 Hiew %I o
fad T g g T Yoema #ea g fausia fa=maii & wusn: 4.5 fpiieer ok s piiaer St nfa A gaa &1
Ugdl aR foas 9ua | BT

® 4.56min/ 4.56 AT

(19)



* 4.30min/ 4. 30 fieE

* 4.84 min/ 4.84f0Fc

® 4.62min/ 4. 62 AT
Correct Answer :-4.56min/ 4.56 fie
8)

Question Stimulus :-

A shopkeeper allows a discount of 12.5% on the marked price of a shirt & makes a profit of 20%. If the
shirt costs Rs. 420 to the shopkeeper. What price should be marked on the shirt? / €% gdhTIgR Tdh AEFH
Rifed F19a W 12.5% $t e B Fafd a1 3 3R 20% BT ATH TATAT 3 | S BT ARG eI 420 FUY & o) IS BT

fafga Tea a1 g a1fiee?
® Rs.676 / FUT 676
® Rs.476 /| FUT 476
® Rs.376/ FUT 376
® Rs.576 / FUT 576
Correct Answer :-Rs.576 / 3UU 576
9)
Question Stimulus :-

How many triangles are there in the following figure? / IEE] Gﬂ?ﬁf ¥ fraq ﬁﬁ'ﬂ??

(20)



e 7
Correct Answer :-6

10)
Question Stimulus :-

A is thrice as good a workman as B and together they finish a work in 18 days. In how many days will A

alone finish the work? / A, B ¥ A9 A1 48R $RAR ¢ 3R d T4 HH H1 18 fa11 # [ #3d §1 A 3Fba
I W &I fhad &1 & @1 Hwm?

e 18 days / 18 fa=
e 20 days / 20 &=
e 24days / 24 &

® 26days / 26 =

Correct Answer :-24 days / 24 f

11)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / 9 A T 9R ual & ¥ iR A T 1d & S T9= o+ a1 ve 181 272

Paul Brooks' Galice Raft Trips
12221 Galice Road

P.O. Box 638

Merlin Oregon 97532

(503) 476-8051

(i) Paul Brooks' Galice Raft Trips
12221 Galice Road

P.O. Box 638

Merlin Oregon 97532

(503) 476-8051
(21)



(ii) Paul Brooks' Galice Raft Trips
12221 Galice Road

P.O. Box 638

Merlin Oregon 97532

(503) 476-8051

(iii) Paul Brooks' Galice Raft Trips
12221 Galice Road

P.O. Box 638

Merlin Oregan 97532

(503) 476-8051

(iv) Paul Brooks' Galice Raft Trips
12221 Galice Road

P.O. Box 638

Merlin Oregon 97532

(503) 476-8051

® jii
® jv
Correct Answer :-iii

12)

Question Stimulus :-

l-.h]-l"—

If of an estate is worth Rs 42000, find the worth of whole estate. Also; find the Value of

| s
W | A

YT & $IAd 42000 FT0F g, 99 & TueT 1 $iua Fepifeg| 3iR; 39F
(22)

of it? / Ufe v& dual &



3

T urr 3 Fva P |
® 22500
® 21500
® 19500
* 18500
Correct Answer :-22500
13)

Question Stimulus :-

There are three alternatives for the following question. Find out the correct one. / 9 u¥y Cg

forg i fawey €] et arem gg|

i. 'Tom Kun Sud’ means ‘Dogs are barking’ / ‘Tom Kun Sud’ WW% ‘Dogs are barking’
ii. ‘Kun Jo Mop’ means ‘Dogs and Horses’ / ‘Kun Jo Mop’ WW% ‘Dogs and Horses’

iili. ‘"Mut Tom Ko’ means ‘Donkeys are mad’ / ‘Mut Tom Ko’ &1 Hddd % ‘Donkeys are mad’

Which of the following encryptions is used for ‘barking’? / feddsaT TfpuRE
-king’® forQ walT garm 22

* Ko

® Kum

® Sud

®* Tom
Correct Answer :-Sud
14)

Question Stimulus :-

The average age of five girls is 11. The oldest among them is 15 years old. What is the average age of the others? /ITIW?I'

defeal I 3fiTd 39 1194 | STA T a4 TSI dSH! B1 Y 1594 | 3T dsibdl B Nad 3Y T 82

°* 12
(23)



Correct Answer :-10

15)
Question Stimulus :-

{(396x4)/6-444}+800/2=?

® 320

® 220

® 300

® 250
Correct Answer :-220
16)

Question Stimulus :-

The salary of a person reduced by 20%. By what percent should his reduced salary be raised so as to bring his original

salary?/ U SHAfcRT BT I 20% PH g1 ST 31 P! U U A= A a1 ufa=ra 9¢M1 gRT a1 9y 391
4T I 81 Bl 92

® 25%

* 20%

* 15%

® 30%
Correct Answer :-25%
17)
Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁﬁlﬂ &R gIHPY Gl Bt T P :

b_dbc _ _cdbc _ _cd

(24)



® cdbbd
® cdbdb
® bdbdc
® cddbb

Correct Answer :-cdbdb

18)

Question Stimulus :-

NEN) S

Dilip buys a radio at of its value & sells it for 20% more than its value. What is his

~

3

gain percent? / f&efiu ts ¥3a Wiedr & iR 39S Yo ¥ 20% 3ifere 4 I JTdT 21 ITBT aTH
ufa=ra =1 82

20%

45%

60%

75%
Correct Answer :-60%

19)

Question Stimulus :-

3p+q 3p+d
3p-q 3p-q
If p:q = 2:5 find the value of /afe p:q=2:58a AR B AR CTINIY
® 10
e 8
* 11
e 12

Correct Answer :-11

(25)



20)
Question Stimulus :-

The series given below contains a sequence of qlpl:lapets,_numbers and symbols. Ider!tify
the incorrect combination: / =19 &1 T3 SRaaT 3ieRY T T3 BT IHH WANT Bl g| Ted HaoH
LEEIER]|

(i) cjcd6jd5%d3w
(ii) cjcd6jd5%d3w
(iii) cjed6jd5%d3w

(iv) ¢jecd6id5%d3w

Correct Answer :-iv

21)
Question Stimulus :-
Complete the series choosing the missing number: / AW TBAT TAHR SGET B TR B :

5,11,19,29,
® 30
® 39
* 41
® 45
Correct Answer :-41

22)

Question Stimulus :-

40% of the students passed in science, 50% of the students passed in English and 10% of the students passed in both, then

(26)



the percentage of failed students is/ 40%0 ST ﬁ?‘l’ﬁ # Il 8¢, 50% B 3ol § It Y 3R 10% B
3T ® 3ol g, & Srg=iivfl ol @t ufa=raar grft

® 10%

® 15%

* 20%

® 25%
Correct Answer :-20%
23)

Question Stimulus :-

What is the difference between one fourth of 200 and two fifth of 100? / 200 & Th T'-ﬁ?-l'l'g Gﬁ? 100 & Eﬁ W\I%Iﬁ &
& &7 3R T 872

° 10
e 12
e 21
e 7
Correct Answer :-10

24)
Question Stimulus :-
Complete the series choosing the missing number: / AW TQAT TAH Y@l B T BIOT :

1/2,3/4,5/8,7/16,

® 9/32
® 9/18
e 14/32
e 9/20
Correct Answer :-9/32

25)

(27)



Question Stimulus :-

A man is standing on a railway bridge which is 180 m long. He finds that a train crosses the bridge in 20 seconds but
himself in 8 sec. What is the length of the train?/ T 3(THI TP 30 Ja R WeT &, S 180 HI TaT &1 391 R %
7 Jd I UR B H 20 H S 3R IV IR FA A § Ybs Adl 31 o 1 aaTs FT 8?2

* 100 m/ 100 Hf
e 120 m/120 |t
« 150 m/ 150 i
« 80 m/80
Correct Answer :-120 m/ 120 1t

26)
Question Stimulus :-

In a code, KNIVES is written as KIENVS. How is OFFICE written in that code? / TP Tbd ﬁ, KNIVES P KIENVS forad %'I

I b & oFFIcE B FU RraT
® OFCFIE
e OFCIFE
® OFECIE
® FIEOFC
Correct Answer :-OFCFIE
27)

Question Stimulus :-

Two dice are thrown simultaneously. What is the probability of getting prime numbers? / ﬁtﬂ'\q'w Y B RILY %'I
SIUTST BT 3T BT FUTIT FIT§?

e 1/3
e 1/2
o 1/4
e 1/5

Correct Answer :-1/4

(28)



28)
Question Stimulus :-
If "Cq9 = "Cyothenn=? /AR " Cy9 =" Cyp A n=?
® 15
° 18
° 22
° 20
Correct Answer :-22

29)

Question Stimulus :-

Complete the following sequence of figures. / Wﬁu‘r ¥ g pa @ T Hifor: \

Correct Answer :-

(29)



30)
Question Stimulus :-
If '"CENTURION' is coded as 325791465, and ‘RANK’ as 18510, what will the figure 78510
represent? / f¢ *CENTURION’ & 325791465 | HIfsd fHdr Siidm §, iR *RANK’ &1 18510 ¥, @l
TS 78510 T SRATTIAT?

e TANK

e BANK

 TAKE

e SANK

Correct Answer :~-TANK

Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-

An example for an unisexual flower is / QEFR’Fﬁ Pl DI Th 3aleUl %
e Hibiscus / %ﬁw
® Mustard / 34l

® Petunia / ﬁ'{:ﬁﬁﬂ

® Papaya / T
Correct Answer :-papaya / TUldT
2)

Question Stimulus :-

Shyamsunder has 5 factories A,B,C,D,E. The expense and income of all the factories is given in form of two pie charts as
follows. Depending upon the information in the chart answer the following question / RUTHJGR % 5 HRTAM %I

A,B,C,D,E THT BRG] & TH 31X 3T 3l IS I1c d U H 68 T g1 I § THPRI P SMUR T
frafafeaa uy s13wR I

(30)



Total Expenses = 2,750 Cr. Rupees.
A Td =2,750 RIS T
Total income = 3,450 Cr. Rupees

$d 3 = 3,450 TS ¥

If arranged in ascending order of profit percentage, the company at 3" rank will be / 3R ATH ufa=a & Gfm?f
U ¥ afRd frar S af TR RIF R #1 A) Sl gl

e E

e D

e A

e C
Correct Answer :-A
3)

Question Stimulus :-
David is observing his image in a plane mirror. The distance between the mirror and the image is 4m. If he moves 1m
towards the mirror, then the distance between David and his image will be / Sfos gHaa ?{&UT H eru= yfafds &1
qaIPT B el 2] gUor 3R ufifia & i 1 gt 4m 2| aft 98 gdur Y 3Rk 1m wirar €, @ S
IR S yRife & o @ g8 anf -

® 3m

® 5m

® 8m

® 6m

Correct Answer :-6m

(31)



4)

Question Stimulus :-

Shyamsunder has 5 factories A,B,C,D,E. The expense and income of all the factories is given in form of two pie charts as
follows. Depending upon the information in the chart answer the following question / RATHJ &Y & 5 HREM %I
A8,C,D,E Tt R & T 3T 3T & Urs I & =0 | 3 T 31 A A WHeR & YR W

WY BT SR 3|

Total Expenses = 2,750 Cr. Rupees.
$d Td =2,750 TRIS T

Total income = 3,450 Cr. Rupees
P 3 = 3,450 FRIS &

Which company has the highest profit in terms of rupees? / P9 H HU B FUAT S ATHA A JaA 3P Yy
g3 8?2

e A

e B

e C

e D
Correct Answer :-D
5)

Question Stimulus :-

A bag marked at Rs. 80 is sold for Rs. 68. The rate of discountis / 80 ¥UU 3ifpd &F\‘Ia'lﬁ Th
I P 60 FUTT H 3T ST &1 JE P &R &

® 20%

® 25%

(32)



® 15%

® 12%
Correct Answer :-15%
6)
Question Stimulus :-

The ratio of two numbers is 3: 4 and their sum is 420. The greater of two numbers is: / a @Sl &l SJUld 3:4

2 T4 ST T 420 B1 <) Sl # 9} W@ &
® 200
® 315
® 240
® 175
Correct Answer :-240
7)
Question Stimulus :-

If the force applied on the object is in the direction of its motion, then / qﬁ a¥d UR 9] 9 Eﬂiﬁ I ot fe=m
w g,

® The speed of the object increases / d¥q @I fa B deldT %

® The speed of the object decreases / d¥q B T B BH BT %

® The speed of the object becomes zero / A% CIRIIG] RIG2 HRCICIE
® The speed of the object remains constant / d%q Eﬁ Tlﬁf @R ?E?ﬁ %

Correct Answer :-The speed of the object increases / A¥q 3 fa &) deldl g

8)
Question Stimulus :-

What kind of respiration takes place in Tape worms that live in the intestine of man? / H3;™ & ol A Wﬁ

Ird U aTH gRT {5y U &1 49+ foran s 82
® Aerobic respiration / Ay o491

® Anaerobic respiration / 3Araary 494
(33)



® They respire only once in a way /4 U 31 & §H TP IR 4T P &
e They do not respire / 9 4T 81 Hd %

Correct Answer :-Anaerobic respiration / KGRI K 494

9)

Question Stimulus :-

2o’ =32a 2o’ =32a

Factorise / BT UGS DI

::;r[:_c:f1 +4;I:a +2fa-2)

(& =27 .]lza +2)
. " J

. 2:1[;::11 + 4):& +2)a—-2]

[a + 2)3 lia + Z\I

2ala® +4Ya+2Ya=2]
Correct Answer :- ['- M~ s |

10)
Question Stimulus :-

The water holding capacity is highestin / STcl P YR B DI ST Eﬂ'ﬁ I=dH 8

* Sandy soil / 3 TS

® Loamy soil / gHc THgl

® Clayey soil / JUHY Hal

® Mixture of sand and loam / ¥d 3R gHC Bl frgor
Correct Answer :-Clayey soil / JUHT H{ql
11)
Question Stimulus :-

In the given figure, 20DC ~ 20BA, £BOC = 125% and £CDO = 70°. Find £ OAB.
/ & i epfa &, 2obC ~ 20BA, £BOC = 1259 3{R £CDO = 70° @ £Z0AB J1d F|

(34)



e 550

e 70°

e 30°

e 60°
Correct Answer :-55°
12)

Question Stimulus :-

Shyamsunder has 5 factories A,B,C,D,E. The expense and income of all the factories is given in form of two pie charts as
follows. Depending upon the information in the chart answer the following question / W & 5 PREMH %I
A,B,C,D,E Tt FREI & W 3R 9 &l U7 91c & +U & 33 T g1 I § I RI & YR W
Fafaraa ay w13 ¢

Total Expenses = 2,750 Cr. Rupees.
A Wd =2,750 TRIS T

Total income = 3,450 Cr. Rupees
A 3 = 3,450 FIS T

If arranged in descending order of profit in Rupees, the company at 2" rank will be / 3[R UGl H# ATH DI ARl

% § afeyd fFar o @ gay ®IM R S A Su-t grir?
e A
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e C

e D
Correct Answer :-A
13)
Question Stimulus :-

If A = 30°, then sin22A + cos22A is / af¢ A = 30°, 99 sin22A + cos22A

.

e 3/4

Correct Answer :-1

14)
Question Stimulus :-

Activated sludge process involves treatment of waste water with / afg smd®

ufehar A YRy oid BT SUER fhad a1y iafiga &
® Aerobic bacteria /arrqé’m Eﬁa'l'f{[
® Anaerobic bacteria / AT \_rﬂa'l'q
® Cyano bacteria / = \_rﬁaTUI
® Both aerobic and anaerobic bacteria / ITIATT 3R Srardy \_rﬂaTl'{[ S

Correct Answer :-Aerobic bacteria / IIIATT ST

15)
Question Stimulus :-

The force required to keep the object moving with the same speed is a measure of / d¥g P AT Tfd F Faferd
R F fIT gz 9 BT TP ATY G&R ¢ :

® Sliding friction / gftfe gefor

(36)



® Static friction / Qs gdor

® Rolling friction / Sea guur

® Fluid friction / YA Ty
Correct Answer :-sliding friction / Ifda gyu
16)

Question Stimulus :-

Tents made of black fabric is not used during summer at a camp site because / iy & EaTF'l' FRT F
R BTA BUS A g9 d¢ BT YN 781 fpar wran §, Fife

® It reflects heat / g HCHI WRTdfad Bl %
® [t absorbs heat / Ug HCHI SANIT BT %
® It attracts dust / 9§ YT MDA HaT &
® ]t radiates heat / g HCHI fawfya w=ar %
Correct Answer :-It absorbs heat / Tg ST ARV HIdT &

17)

Question Stimulus :-

Ramu was doing a project to find out the type of soil, best suited for growing plants. The soil collected from which
area might have proved best? /Tﬂlm gref & e Ta e STIPd Hal & UPHRI B JTd B B TH
AT B 3T A1 5w & | ga1 &1 wug fpar 9 % ot 9499y s o 9@

® Soil from road side / T§® & fHIR HI Hal

® Soil from a construction area / ferafor 833[ C3) Hal

® Soil from a bare mountain / 3-Tqd tl%'l?—.?f Ed| Hal

® Soil from an area with grass and trees /9T 3R ﬁ@ﬁ & &= arelt Hal
Correct Answer :-Soil from an area with grass and trees / 9TH 3R ﬁ:«ﬁ & &= arelt Hal
18)
Question Stimulus :-

The sequence in a food chain is represented as / T W<l WFIT &1 Ufafee E:I'l?f J fraa Eﬁ?ﬂ %?

e Consumers — Producers —+decomposers / 3udier —* IdGH —*

(37)



SUYcH

e Sun —* Producers — decomposers —+ consumers / g —»3dCH
— JU¥eH —+ IYHIGI

e Sun —* Producers —* herbivores —* carnivores —
decomposers / @ —* IAGH —* WMHRRI —*FARRI—* TICDH

e Producers — herbivores — carnivores / 3dc® —* UHBRI —* HHBRI

Correct Answer :-Sun —* Producers —* herbivores —* carnivores —*
decomposers / G4 —* IAGH —* AMHRRI —*HEERI—* JTUCH

19)
Question Stimulus :-
If x = 4, find (32)% / 3¢ x = 4 @ (32) FH@Ifer™
o 1/220
e 520
° 1/2°
e 79
Correct Answer :-1/2%0
20)

Question Stimulus :-

Two cubes have their volumes in the ratio 8 : 27. The ratio of their surface areas is . /a U+l BT 3+

8:27 P AU A I STP gSU Apa pTAQUIA S

® 2:3

® 64:729

Correct Answer :-4:9

21)

Question Stimulus :-

(38)



The electrode through which current enters the electrolyte is known as / %

sddcrs N grT fagaa Ut fagaa sraaea & wasT Hl 8, FeT ol @
* anode /TS
* cathode / HUS
* diode /ST
* emitter / TRTER

Correct Answer :-anode / 3-IS

22)
Question Stimulus :-

A sector whose area is equal to one-fourth of the circle is called a / an / 98 Slaus ISRET Eam qd ol

oIS el &, Pgardr gl
® semicircle / G{‘EJQH

* quadrant / aUTE (IFU=N)

® Arc / dTU

® Segment / WUS
Correct Answer :-quadrant / gaUTe (IGUTR)
23)

Question Stimulus :-

Shyamsunder has 5 factories A,B,C,D,E. The expense and income of all the factories is given in form of two pie charts as
follows. Depending upon the information in the chart answer the following question /W * 5 PREMH %I
A,B,C,D,E Tt IR & T R 3T &Y UTs I1¢ & w0 A {8 T 1 71é § TP & SMUR W
Frafafed vy o1 s ¢

Total Expenses = 2,750 Cr. Rupees.
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A TH =2,750 TRIS T

Total income = 3,450 Cr. Rupees
A M = 3,450 FIAS T

Which company has the highest profit in terms of percentage? / S I $U &1 ufazrd &
A Jad SIS AT g3 82

e B
e C
e D
e A
Correct Answer :-D

24)
Question Stimulus :-

The number among the following is divisible by 7. / frafafea 9 & 9= 79
faursa g1

® 5990
® 5992
® 5994
® 5996
Correct Answer :-5,992

25)
Question Stimulus :-

Identify the one which can exist in all the three states-solid, liquid, gas / B 73 Th 3| Uedlid & o g9t
& STl 319, @, T & HiS[g 81 Il @

e Helium / %?ﬁm-"r
* Hydrogen / BTSSIS

® Water /STl

® Carbon dioxide / PTI STSATHITSS

(40)



Correct Answer :-Water / STd

26)
Question Stimulus :-

Find the area of a triangle formed by A(5, 2), B(4, 7) and C(7, -4). / ﬁgéﬁ A(5, 2), B(4,
7) 3R C(7, -4) | T AP F1 &% 74 BT

® 2 square units /2 Tt 3371%

® 4 square units / 4 Goj smé

® 16 square units / 16 ?:I'i'fsﬁl'sc

® 1square unit/1 EU| WI'QF
Correct Answer :-2 square units / 2 T SHIS
27)

Question Stimulus :-

The height of a pole is measured in / TPh e Bl ﬁT{f P H{TUT STl '% 'S"Hﬁ :
® Kilo metres / foer diex
® Centi metres / At e
® Metres / Hiex
® Nano metres / AT ez
Correct Answer :-Metres / Hiex
28)

Question Stimulus :-

In which of the following states in India, a major earthquake has occurred after the year 2000? / aY 2000 & diq

YRd & 0 o § f5a T § T 9871 YU 3T 72
® Karnataka / PHIC®H
® Gujarat / JoIRTd
® Maharashtra / HEIRTY

® West Bengal /m CHIG]
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Correct Answer :-Gujarat / oRTd

29)
Question Stimulus :-

Shyamsunder has 5 factories A,B,C,D,E. The expense and income of all the factories is given in form of two pie charts as
follows. Depending upon the information in the chart answer the following question /W % 5 PREH %I
A,B,C,D,E AWt FREI & T 3R 3 &Y UTS A1E & FU | {33 T4 g1 Ad & PR & YR W
frrafafea gy o1 SR ¢

Total Expenses = 2,750 Cr. Rupees.
A WA =2,750 TRIS T

Total income = 3,450 Cr. Rupees
$d 34 = 3,450 FAS T

If company A and E are merged to form company M, this new company will show profit / loss /'q'ﬂF'ﬂ A 3R E U

M & &9 | Ty o3 fean §e af $9 785 S a1y / g1 foamr gim?
® Profit 12.56 % / 12.56 % WY
® loss 13.21% / 13.21 %I
® Profit 15.42 % / 15.42 % WTYH
® Profit 17.61 % / 17.61 % €Y
Correct Answer :-Profit 15.42 % / 15.42 % TlH
30)

Question Stimulus :-

Which of the following will you use as electrolyte for electroplating a copper
spoon with silver? / s ¥t Twg 3 914t & A1y fagaa syges w4 & forw A & @ 5w fagaa
3UTed & U H Tgad HI?

® Copper sulphate solution / HIR gebe faea=

(42)



® Ssilver nitrate solution / RIeax T-I'Iga? o=
® Ferric chloride solution / Wi a%ﬁvrs'g IEGEE!

* Dilute sulphuric acid / TP TCRIND 3T
Correct Answer :-Silver nitrate solution / RITa¥ =r|32'c' IEGRE!

(43)



